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Name: Number: Section:
sUseful information:
Speed of light, C = 3.0x10° m/s
Planck’s const., h = 6.626x107* J.s
Avoegadro’s No., Ny = 6.022x10* mol™
Rydberg const. for H atom Ry =2.18 x107% J
| Mass of the electron, m=9.11 x 107" kg
Gas constant, R = 0.082 L atm K ' mol™’
H PERIODIC TABLE .
iy Relative atomic mass to 2
7 Kei nearest whole number 3] 12 14 16 19 20
Li 12 B C N O F | Ne
C——>Symbol T 1 RS
3| 2 ®—T—> Atomic number 27 | 28 | 31 32 | 355 | 40
Na | Mg Al | Si P S Cl | Ar
Sodum | Magnesium Absmlram Silicon Meompbrans Salfur Chiarise Argea
11 S ; 13 14 15 16 17 18
39 [ 40 [ 4 P LT 55 | a6 50 50 | 635 | 65 70 | 725 80 54
K|(Ca[Sc| Ti |V|[Cr|Mn|Fe |Co|Ni|CulZn|Ga| Ge Br | Kr
Potassium Cakium Scesdiym Tianium Vagadium § Cheomism Mangasese Tren Cobale Nickel Copper Fine Callium Crepmanbisn Henmine Krwptan
19 | 20 21 22 23 | 24 25 26 27 28 29 30 31 12 33 36
855 | &6 5 91 93 | 96 | (96) | 101 | 103 | 106 [ 108 | 112 | 115 | 119 | 122 | 128 | 127 | 131
Rb| Sr | Y Zr INb|Mo | Tc | Ru |Rh [ Pd [Ag [Cd | In | Sn [ Sb | Te | I | Xe
Rubidum | Swoatium Ynrium Zeroomium Niohim 1l Technetiom | Ruthenium Riadum Paltadium Sihver Cadmium Incium Tin Antimony Telberum Indine Xenon
37 | 38 30 40 41 | 42 43 a4 | C4s)| 46 | 47 48 49 50 51 52 53 54
| [33] 57 [ | vss 8| 188 | 186 [ 190 o 1195 o | o1 [ | 207 | 2% 210) | (210) | (229)
Cs|Ba | La | Hf |Ta| W [Re [ Os | Ir | Pt [Au |Hg | TI | Pb | Bi | Po | At | Rn
Cesum Barium Lantbanum Hafnlum Tanizlum Tungsiea Rhbenium Osmium Teidium Platinum Gold Mercury Thallium Lead Bismuth Paloniun Astillne Rmdun
55| a6 57 72 73 | 74 73 76 77 78 79 80 81 82 83 84 85 86
(223) | (226) | (227) (262) | (266) | (264) | (265)
Ra | Ac Db| Sg | Bh | Hs
] Actinkem Dutnium | Sesborgiess | Bahriom | Hassium
89 105 | 106 | 107 | 108
140 145 | 150 | 152 | 157 150 [ 1625 | 165 | 167 | 169 | 173 | 175
Ce Pm (Sm(Eu| Gd | Tb | D Ho | Er (Tm | Yb | Lu
t:qugu | m ||u1.>.|]|.....|. qw{:;m. -_-uggg:lm: (|ll|l{‘..‘;|||.m I‘}:_Iq"m :'_hEE:- :1.;:%;"" ::,Isn ||;|‘;|m \'v;lam ..ul_}-i-um
232 237 [ 244 [@3)| @) | @ | @0 | 252) | @50 | 258 | 259 | 262
Th Np |Pu|Am| Cm | Bk | Cf | Es Fm [ Md | No | Lr
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Choose the correct answer

A-1 Which of the following is rot a mixture?

Q)ldx ygen b) Pizza ¢) Sugar solution d) Air
A-2 What is the SI unit for length? —
a) Centimeter b) Inch GMeter ' d) Kilometer
A-3 How many decimeters are there in 15 centimeters?
. a) 150 dm (b) 1.5 dm—, ¢) 0.15 dm d) 15 dm
A-4 What is the symbol of the element that has 24 neutrons and a mass number of 457
a)Sc ) b) Tm c)Cr d) Rh
N

. ABmost
A-5 How many electrons are in 22777 ?

I Tayan Ty b) 22 ¢)26 d) 70
A-6—Which of the following elements is a metal?
a)Co ) b) Ar c)l d)C
A-7 Which two of the following pair of atoms are isotopes?
a) 32K and 347 b) 2¥Ca and #5c (¢) ¥Ca and $Ca > d) 3K and 3 Na
& @ : b= s 3 o A e
A-8 Which three elements have similar chemi-:?l,.properﬁes?— ~
a) N, O, Ne b) Na, Mg, Al . ©)Ca,Sr,Ba ) d) Ni, Cu, Zn
it S e ; iy
|  A-9 Which of the following could be an empirical formula? E=pamn
a) C()Hf‘, b) CsHu} C) C4H1g Ld] C,Hs ‘,

A-10 An example of monatomic-ion is H
a) NO;™! BO* ) ¢) 0, d) S0,*
! .__,..-'""‘-'

A-11 How many moles are in 3 g of carbon? - I
a) 0.5 mole b) 4 mole <c) 0.25 mole~, d) 2 mole

A-12 How many atoms are there in 5.4 g of sodium?
2) 6.023 x 107 atoms  b) 3.011 x 10* atoms

Page 2




5_5 9"/ o OS5

7‘?:"1"-‘%‘;};){ ?//5“ A

A-13 Calculate the average atomic mass of iron which consists of three stable isotopes: iron-54
(5.99%), iron-56 (91.75%) and iron-57 (2.26 %) which has atomic masses of 53.94 amu,

55.93 amu and 56.94 respectively. :
1) 57.1 amu b) 54.47 amu ¢) 52.52 amu @;m
310 T
A-14 What is the percent composition of phosphorus in Ca;(POy),?
QE)/% ,') b) 11% c) 22% d) 36%
'__‘-"_'_L‘J_‘L‘ ——;_c.f_z_ )’- W
A-15 A compound is composed of 40:92% carbon, 4.58 %%ydrugen and 545% r)xygen by mass.

Determine the empirical formula of this compound? J\ Oy
a) CHO b) CoH:0, ¢) Ca m@1 2 d) C;HO;
*—-H_____/

A-lﬁ The molar mass of the compound above found to be 176 gfmo]e What is its molecular

b) CeHoOp ¢) C7H1205 d) CHsOs O 4
N

—— e =i — -

= — =
A-17 The process in which one or more substances are changed into one or more =

is called:
a) dilution b) mole ¢) Chemical symbo
“-h\_\_‘_‘_\_‘_\__ e —
A-18 After balancing the following chemical equation:
al Li,C + BYH,0 > ¢'LiOH +dICH, Polee

of a, b, c and d (a+b+c+d) is: o I
ot b) 6 )8 d)5 X

A-19 How many grams of water is produced by burning 23 g of C;H;:OH according to the
follo equation: 15

2C1H< H+70; +6H20
a)9 g?2 b)27g 1 c)18¢ d)215¢

A- 20 The reaction of 10 g CaO wi ith 1 Lgf CO; produced Ca&i; according to the following

equation: CaO + _COz = CaCo;
__hQJlDIltmg eagentis: ' \°0 | 1<9

3| 18
a) Ca0 bdo, | 7 3 ¢) Ca0 and CO, d) CaCOs
= o/8 |02
A-21 What is the excess rea in the previous question (question 20)?
a) Ca0 % ¢) Ca0 and CO;, d) CaCOs;

\A -22 What is the percent yleld of (,a(,()‘ in guestion (20) if 15 g of CaCO:; are aclually oblamed"

a) 100 % b) 66 % C 984 %~ d) 150%
R =
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A-23 What mass of NaCI&@Wﬁ 1L of 0.5 M sodium ion solution?
a)115g b)29.25g ) )55 ¢ d)323 ¢

A-24 What volume of 0.5M NaOH solution would you need to prepare 100 mL of 0.1 M NaOH

solution? e
2) 200 mL b) 0.20 mL C goomL ) d)2 mL
M o
A-251 L of a 0.5 M NaCl solution is mixed with 0.5 L of 0.1 M NaCl. What is the concentration
of NaClin the final solution? D.p2,,
_ a)0.367 M/*v b) 0.6 M €)0.55M B d)0.4M
A-26 Calculate the density of platinum metal with a mass of 96.5g and a volume of 4.49 cm™?
(a)2L.5 g/mD> b)2.15 g/mL ¢) 0.05 g/mL d) 215 g/mL
A-Z?&%Hs‘me%mical name of the formula SO,?
& a) Sulfur dioxide™ b) Sulfur trioxide ¢) Sulfur oxide d) Sulfate
o
A-2 t is the correct formula of sodium nitrate?

a) NaNO3 ™

: b) NaNO» c) NaN d) NaNO4
R A0 iy

| — — L

. A-29 The correct formula of a compound consists of F and Mg is

SAMgF b) MgoF (O Mg d) MgF w
A-30 Which of the following is most likely to be poor conductors of heat and e]ectricit';,'.'é R ")
v aIE = N b) Mg ¢) Na d) Fe
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